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(&)

Directions: There are 4 reading passages in this part. Each
passage is followed by some questions or unfin-
ished statements. For each of them there are four
choices marked A, B, Cand D. You should decide
on the best choice and mark the corresponding letter
on the Answer Sheet with a single line through the
centre.

Questions 20 to.25 are based on the following passage:

Navigation computers, now sold by most car-makers,
cost $ 2 000 and up. No surprise, then, that they are most of-
ten found in luxury cars, like Lexus, BMW and Audi. But it
is a developing technology—meanlng prices ,_,should eventually
drop—and the market does seem to be growing.

Even at current prices, a nav1gat10n computer is impres-

sive. It can guide you from point to point in most major cities

PEEEEES

with precise turn-by-turn directions—spoken by a clear
F——‘\, - .
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human-sounding voice, and written on a screen in_’front of the
driver.

The computer works with an antenna (X#£) that takes
signals from no fewer than three of the 24 global positioning
sysaegl (GPS) satellites. By measuring the time required for a
signal to travel between the satellites and the antenna, the
car’s location can be pinned down within 100 meters.

The satellite signals, along with inputs on speed from a
wheel-speed sensor and direction from a meter, determine the
car’s position even as it moves. This information is combined
with a map database. Streets, landmarks and points of interest
are included.

Most systems are basically identical. The differences
come in hardware—the way the computer accepts the driver’s
request for directions and the way it presents the driving in-
structions. On most systems, a driver enters a desired ad-
dress, motorway junction or point of interest via a touch

screen or disc. But the Lexus screen goes a step further: you

. can point to any spot on the map screen and get directions to

it.

BMW’s system offers a set of cross hairs (s b+
g) that can be moved across the map (you have several
choices of map scale) to pick a point you’d like to get to. Au-
di’s screen can be switched to TV reception.

Even the voices that recite the directions can differ, with
better systems like BMW’s and Lexus’s having a wider \Q_g_a_b;
ulazl.\ The instructions are available in French, German,
Spanish, Dutch and Italian, as well as English. The driver can
also choose parameters for determining the route: fastest,
shortest or no freeways (B#2A8), for example.
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21. We learn from the passage that navigation computers
A, will greatl&r promote sales of automobiles
B. may help solve potential traffic problems
Q/are likely to be accepted by more drivers _
D. will soon be viewed as a symbol of luxury
22. With a navigation computer, a driver will easily find the
best route to his destination .
A. by inputting the exact address 5/
B. by indicating the location of his car.y
C. by checking his computer database
D. by giving vocal orders to the computer,
23. Despite their varied designs, navigation computers used in
cars
A. are more or less the same price
B. provide directions in much the same way
C. work on more or less the same principles _,
D. receive instructions from the same satellites
24, The navigation computer functions .
A. by means of a direction finder and a speed. detector
- B. basically on satellite signals and a map database .
C. mainly through the reception of turn-by-turn directions
D. by using a screen to display satellite signals
25. The navigation systems in cars like Lexus, BMW and Au-
di are mentioned to show .
A. the immaturity of the new technology
B. the superiority of the global positioning system _,
- C. the cause of price fluctuations in car equipment

/D? the different ways of providing guidance to the driver

Questions 26 to 30 are based on the following passage:

In department stores and closets all over the world, they
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are waiting. Their outward appearance seems rather appealing
because they come in a variety of styles, textures, and colors,
But they are ultimately the biggest deception that exists in the
fashion industry today. What are they? They are high heels—
a woman’s worst enemy (whether she knows it or not). High
heel shoes are the downfall of modern society. Fashion myths
have led women to believe that they are more beautiful or so- .
phisticated for wearing heels, but in reality, heels succeed in
posing short as well as long term hardships. Women should
fight the high heel industry by refusing to use or purchase
them in order to save the world from unnecessary physical and
psychological suffering. ,

For the sake of fairness, it must be noted that there is a
positive side to high heels. First, heels are excellent for aera-
ting (#3i4,) lawns. Anyone who has ever worn heels on grass
knows what I am talking about. A simple trip around the yard
in a pair of those babies eliminates all need to call for a lawn
care specialist, and provides the perfect-sized holes to give any
lawn oxygen with out all those messy chunks of dirt lying
around. Second, heels are quite functional for defense against
oncoming enemies, who can easily be scared away by threaten-
ing them with a pair of these sharp, deadly fashion accesso-
ries.

Regardless of such practical uses for heels, the fact re-
mains that wearing high heels is harmful to one’s physical
health. Talk to any podiatrist (% E %), and you will hear
that t}‘\e majority of their business comes from high-heel-
wearing women. High heels are known to cause problems such
as deformed feet and torn toenails. The risk of severe back

problems and twisted or broken ankles is three times higher
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for a high heel wearer than for a flat shoe wearer. Wearing

heels also creates the threat of getting a heel caught in a side-

walk crack or a sewer-grate (Ji¥#f) and being thrown to the

ground—possibly breaking a nose, back, or neck. And of

course, after wearing heels for a day, any woman knows she

can look forward to a night of pain as she tries to comfort her

swollen, aching feet,

26.

27.

28.

29.

What makes women blind to the deceptive nature of high
heels? '

A. The multi-functional use of high heels.

B. Their attempt to show off their status.

C. The rich variety of high heel styles.

D. Their wish to improve their appearance.

The author’s presentation of the positive side of high heels
is meant

A. to be ironic

B. to poke fun at women

C. to be fair to the fashion industry

D. to make his point convincing

The author uses the expression“those babies” (Line 5,
Para. 2) to refer ta high heels

A, to show their fragile characteristics

B. to indicate their feminine features

C. to show women’s affection for them

D. to emphasize their small size

The author’s chief argument against high heels is that

A. they pose a threat to lawns
B. they are injurious to women’s health
C. they don’t necessarily make women beautiful

D. they are ineffective as a weapon of defense
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30. It can be inferred from the passage that women should

A. see through the very nature of fashion myths

B. boycott the products of the fashion industry

C. go to a podiatrist regularly for advice

D. avoid following fashion too closely
Questions 31 to 35 are based on the following passage:

What might driving on an automated highway be like?
The answer depends on what kind of system is ultimately
adopted. Two distinct types are on the drawing board. The
first is a special-purpose lane sﬁrstem, in which certain lanes
are reserved for automated vehicles. The second is a mixed
traffic system: fully automated vehicles would share the road
with partially automated or manually driven cars. A special-
purpose lane system would require more extensive physical

modifications to existing highways, but it promises the grea-

test gains in freeway?%ﬁé}ﬂ%) capacity.

Under either scheme, the driver would specify the desired
destination, furnishing this infomation to a computer it the car
at the beginning of the trip or perhaps just before reaching the
automated highway. If a mixed traffic system was in place,
automated driving could begin whenever the driver was on
suitably equipped roads. If special-purpose lanes were availa-
ble, the car could enter them and join existing traffic in two
different ways. One method would use a special onramp (A1
8] ). As the driver approached the point of entry for the
highway, devices installed on the roadside would electronically
check the vehicle to determine its destination and to ascertain
that it had the proper automation equipment in good working

order. Assuming it passed such tests, the driver would then
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be guided through a gate and toward an automated lane. In

this case, the transition from manual to automated control

would take place on the entrance ramp. An alternative tech-

nique could employ conventional lanes, which would be shared

by automated and regular vehicles. The driver would steer on-

to the highway and move in normal fashion to a “transition”

lane. The vehicle would then shift under computer control on-

to a lane reserved for automated traffic. (The limitation of

these lanes to automated traffic would presumably be well re-
spected, because all trespassers (A %) could be sw1ftly
1dent1f1ed by authorities, )

Either approach to joining a lane of automated traffic

would harmonize the movement of newly entering vehicles

with those already traveling., Automatic control here should

allow for smooth merging, without the usual uncertainties and

potential for accidents. And once a vehicle had settled into au-

tomated travel, the driver would be free to release the wheel,

open the morning paper or just relax.

31.

32.

33.

We learn from the first paragraph that two systems of au-
tomated highways

A. are being planned -

B. are being modified

C. are now in wide use

D. are under construction ‘

A special-purpose lane system is probably advantageous in
that

A. it would require only minor changes to existing highways

B. it would achieve the greatest highway traffic efflcnency

C. it has a lane for both automated and partially automated vehicles
D. it offers more lanes for automated vehicles

Which of the following is true about driving on an automa-
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ted highway?’

A. Vehicles traveling on it are assigned different lanes according to

their destinations.
B. A car can join existing traffic any time in a mixed lane system,
C‘../The driver should inform his car computer of his destination before
driving onto it.
D. The driver should share the automated lane with those of regular
vehicles.
34. We know from the passage that a car can enter a special-
purpose lane .
A. by smoothly merging with cars on the conventional lane
B. by way of a ramp with electronic control devices
C. through a specially guarded gate <
- D. after all trespassers are identified and removed
35.. When driving in an automated lane, the driver
A. should harmonize with newly entering cars
B. doesn’t have to rely on his computer system
C. should watch out for potential accidents
D. doesn’t have to hold on to the steering wheel
Questions 36 to 40 are based on the following passage:;
Not too many decades ago it seemed “obvious” both to the

general public and to sociologists that modern society has

.changed people’s natural relations, loosened their responsibili-

ties to kin (M) and neighbors, and substituted in their place
superficial relationships with passing acquaintances. Howev-
er, in recent years a growing body of research has revealed
that the “obvious”is not true. It seems that if you are a city
resident, you typically know a smaller proportion of your
neighbors than you do if you are a resident of a smaller com-
munity. But, for the most part, this fact has few significant

consequences. It doe(s_tQt_’gecessaﬁly,follow that if you know_
\‘\/_



few of your neighbors you will know no one else.

Even in very large cities, people maintain close social ties
within small, priv:':lte social worlds. Indeed, the number and
quality of meaningful relationships do not differ between more
and less urban people. Small-town residents are more involved
with kin than are big-city residents. Yet city-dwellers compen-
sate by developing friendships with people who share similar
interests and activities, Urbanism may produce a different
style of life, but the quallty of life does notmen

town and city. Nor are residents of large cornrnunmes any

likelier to display psychological symptoms of stress or aliena-

tion, a feeling of not belonging, than are residents of smaller

communities, However, city dwellers do worry more about
crime, and this leads them to a distrust of strangers.

These findings do not imply that urbanism makes little or
no difference. If neighbors are strangers to one another, they
are less likely to sweep the sideéwalk of an elderly couple living
next door or keep an eye out for young trouble makers. More-
over, as Wirth suggested, there may be a link between a com-
munity’s population size and its social heterogeneity (Z##).
For instance, sociologists have found much evidence that the
size of a community is associated with bad behavior including
gambling, drugs, etc. Large-city urbanites are also more like-
ly than their small-town counterparts to have.a cosmopolitan
(R.%iR)") outlook, to display less responsibility to traditional
kinship roles, to vote for leftist political candidates, and to be
tolerant of nontraditional religious groups, unpopular political
groups, and so-called undesirables. Everything considered,
heterogeneity and unusual behavior seem to be outcomes of
large population size. i
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36

37

38.

39

40

. C BEETTL >
. Which of the following statements best describes the or-
ganization of the first paragraph?
~& Two contrasting views are presented. »¢
B. An argument is examined and possible solutions given.
\9 Research results concerning the qtiality of urban life are presented
in order of time.
D. A detailed description of the difference between urban and small-
town life is given. =

According to the passage, it was once a common belief

that urban residents .

A. did not have the same interests as their neighbors »

B,

C. tended to be associated with bad‘behavior

could not develop long-standing relationships

D. usually had more friends x
One of the consequences of urban life is that impersonal
relationships among neighbors .
A. disrupt people’s natural relations x
B.make them worry about crime
&Rause them not to show concern for one another P
D. cause them to be suspicious of each other <
. It can be inferred from the passage that the bigger a com-
munity is, .
A. the better its quality of life / x
B. the more similar its interests
Q/Xhe more tolerant and open-minded it is
D. the likelier it is to display psychological symptoms of stress
. What is the passage mainly about?
&Similarities in the interpersonal relationships between urbanites
and small-town dwellers. b
B. Advantages of living in big cities as compared with living in small
towns,

C. The positive role that urbanism plays in modern life.



